-
a. L
75. In India the area under forest cover is about of the total area :%
1% A
(A) 31 % (B) 1 “ %
(C)21% (D) 15% I
75 MHIRAME §A [ARAURAL vvenee Qa2 ol axQe . §
(A)31% (B) ll“u
D) 15%
O 21% ( ¥ “
76 A merchant has 1000 kg. sugar. He sold some sugar @ 8% profit & remaining af e .e\
| aains 14% on the whole. The quantity sold at 18% is. \).\ A _
(A) 400 kg (B) 560 kg /g !
D) 640 kg )
00 ( |
%\ ' 2 oudl-Al 2edl 18% il A 8. A d- 54 :
76 Q;[s ql\_u{[ 1000 GC“[II wWid a.il 6 Q*l'ﬁ& %w-l 8% "l-‘.’l"n W GULsHL T (i :
14% <151 ae dl 18% gl del s2dl vis qall ¢al ? . " i
|G :
(A) 400 (34l (B) 560 (34l ’ |
@ 600 [Zal (D) 640 (34l || i
77. The percentage increase in the area of a square, if each side is increased by 20%. G > &
(A) 22% (B) 33% Lo i
(C) 44% (D) 55%
77 oA 2122l el douSHi 20% atiRl sl 241d dl AASAHL 24l qrizl 18l ? ’\;, ARG
F . . /_’———
(A)22% (B) 33% -3
(©) 44% Wy (D) 55%
78. Average of a cricket player for 10 innings was 32 runs. If he want to increase the average by 4
more runs then in next innings he has to make runs. )
b L &2~ \
(A) 76 (B) 79 ;
(C) 85 (D) 87
e 95332 2uddla- 10 S0t Aader 32 8. A d Al ARy ati? 4 el s2aull glu al uel-l ) "n°l\1;l\i
" S—— zﬂlsm %33 9. @ :S
@ 76 0 (B) 79 R
(C) 85 (D) 87 f-;ﬂ \
79. A boy can sx.vim in still water at 4.5 km/h but he takes twice as long to swim upstream than down
stream. The speed of the stream is %‘20 u
(A) 1.8 knvh (B) 2.0 km/h %@
11 (C) 2.2 km/h (D) 1.5 km/h
5163) B2 wellui 4.5 Bal/saus-d asudl ddl 93 8, uig $16-EIH Sl HURZIHAUL dell tiHEll AHY
A8, dl 2flur sl #su Jedl el ? ~ 94 ;
— |t
(A) 1.8 [3Hl/5eus @ (B) 2.0 [(5¥l/se1s ﬂ
| 1.5 (3xlsans *
© 2.2 Ballsas 2 (D) >y,

®
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30.

80.

S1.

S2.
S2.
oY

~ 83,

0.5

D

L
83.
84.
84.

Today is monday after 61 days it will be.

(A) Tuesday (B) Monday

(C) Sunday (D) Saturday &
2% AHAR B dl 61 Razy el sul arR ¢d ? Fl Gé’ ,a'\l %
(A) ﬁalulclli (B) %{qulz @ :_____-—_-’

Ny g
(C) Ad: ©) AR o\ \
The compound interest on Rs. 30,000 @ 7% is 4347 Rs. The period is A
(A) 2 years (B) 3 years ? ,gég '
(C) 3.5 years (D) 4 years -"""S'—’

0 ' ' vl seal ol ?
3L 30000 -1t HEA U 7% AVl 31. 4347 <% WO 6, w0 AAAHL wiai_l_@_%____
Q)2 ay (B) 3 aY
(C) 3.5 4 (D) 4 ad
Which of the following fraction is greater than 3/4 and less than 5/6 7 A
(A) 3/5 (B) 4/5 \ s L w
~
ob\
(C) 7/5 (D) 9/5 % /‘g'?’/
A2 W4 sul 2090105 3/4 5L HI2L 247 5/6 Sl UL 7 ]
(A) 3/5 4/5 > wu34r-
(C) 7/5 (D) 9/5 e
What will come in place of question mark in the following equati 3/& 2 [!7
54.(7)3 + 543 + 5.43 = 603.26 ‘
uﬁ.’ 2 G2
(A) 6 \S (B) 1 ——'%2,)’ £
< G
(C)9 (D)8 . ? ‘;,\ 0
] o G."L
At w50 wrall ou g 2uadl ? s ‘ g &
\n
54.(7)3 + 543 + 5.43 = 603.26 S‘" 5 3 5‘ e
(A) 6 (B) 1 % y 60
(©)9 @®s (03 % ,i_.-/
Three numbers are in the ratio of 3 : 4 : 5. Their LCM is 2400, then their HCF is
(A) 40 (B) 80
o )

(C) 120 (D) 200 ?QJL%T}
AL vl 3 : 4 1 5 U RlrRHi 8. d-ll LCM 2400 €14 dl A+ HCF 32¢i) ¢3| ? |
(A) 40 * (B) 80 )(.Q \
(€) 120 @) 200 300
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85; 221 54! 108$ ]351 198 ulcil' LCM is
(A) 330

(C) 5940

72,55 0B B3 198 4 Lem g
' (A) 330

. If an object moves at five f
86 ! Cel per second, then it will move how many feet in an hour ? \
(A) 300 3
(B) 18000 \ £ b
(€) 30000 Y s
(D) 180000 k/\g |
_. ;;36 o 2 5 A €2 AL Wi g2 wad) €y ) SALSH 2l wal) ? 3 < 7 (o
(A) 300 il
i @ 18000
(C) 30000 (D) 180000
,, 87, Find the next number 125, 80, 45, 20 .2
(A) 5 (B) 15
(C) 25 (D) 35
g7, ugll o2 24l 125, 80, 45, 20 ...7...
®) 5 uf 3 (B) 15

(C) 25 (D) 35

31 +52 + 83.... + 100 is equalto

(A) 2775 (33775
(C) 4775 (D) 5775

51452 +53.... + 100 -l Al 324l ay €9 7

(A) 2775 B) 3775
(C) 4775 (D) 5775

What least number must be subtracted from 13601 so that the remainder is divisible by 87 ?

377

(A) 23 (B) 29 NS

(C) 31 (D) 37 /& O
1360‘1;{{2[1 ileord 20l 56 253 oute sl ASA Bl AuA 87 4l &l wsiy ? oA } 3 GO )

(4)23 (B) 29 q % :El
‘(C) 31 W (D) 37 W _,Lﬁ-’ﬁ-&:‘ 174H
5 Z = . = <€
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90. Find the odd man out. 2, 5, 10, 17, 26, 37, 50, 64, ? 2{6‘

(A) 64 . (B) 50 :{2

(C) 37 (D) 10 ;Zw
90. s H+ 0Bz Wk, 2,5, 10,17, 26,37, 50, 64, 2 -{"T q

1 AT 7

A) 64 3 ¢ 3 (V h " (B) 50 26

(C) 37 | (D) 10 l}ré‘
91. Fill in the blank. 7, 26, 63, 124, 215, 342, ? {'32 7.

(A) 391 (B) 421 /,"I %

(C) 481 (D) 511
o1,  vudl oul ™3l 7, 26, 63, 124, 215, 342, 2 g‘g

e 2N \ ? A

(A) 391 z.‘* 2 n My ,j 87 (B)421 @

(C) 481 @ 51 B
92, A student has to obtain 33% of the total marks to pass. He got 125 marks and failed by

marks. The maximum marks are ?

(A) 500 (B) 600

(C) 800 (D) 1000 |
92,  (Renell wizt uan 33% Wi o3dund 8. AA 125 s 1A © i d 40 sl A qdA 89, dl 54 UL

() 500 (B) 600 s

r 65

(C) 800 (D) 1000

93. The price of a book is first decreased by 25% and then increased by 20%. Then the net change

in the price is ?

S 45 |
Y10° N

(A) 10 mw 33 YB3 N
(D) 40 353 »}.J

(C) 30

03.  uaets-ll (Bantctui wan 25% u21sl s34 usledll 20% AUIRL sl 20 ©. 2 AR Gmgni aliasl
33512 324l ¢4l ? JPToYSL ¢ m:(:%ff
3 10 (B) 20 -»—:;’" ( jﬂ
(C) 30 (D) 40

04, A man’s speed with current is 15 knv/h and the speed of current is 2.5 km/h. The speed of a man
against the current is 7
(A) 9.5 km/h (B) 10 knv/h
(C) 10.5 knv/h (D) 11 knv/h

04. wars 208 el ssu 15 Galseausdl 8. uasl 384 2.5 Baly/sas 8. dl warel 2ua weeeld »iu
sedl el ? Y
(A) 9.5 (Ball/sa1s @) 10 Gayseus \ % X
(C) 10.5 Ball/seus D) 11 Bll/seus %

N
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Two trains are running in the opposite direction in the same speed. The length of each train 1s

95.
120 mtrs. and they cross each other in 12 seconds. Then their speed is km/hr.

(A) 42 (B) 36
(C) 28 (D) 20
95. ol 21 A 380 [A3g Raumi €12 8. e35-0 dous 120 22 O 244 12 Assui AAsolload uuR 53 8. dl
d-l sy .......... (33l/5¢ns al. \ N P A :
(A)42 B) 36 — (
- ot
(C) 28 @) 20
96. A shop keeper cheats to the extent of 10% wﬁilc buying and selling by using false weight. His
total gain is ?
3 (A) 19% (B) 20%
,:\ (C) 21% (D) 22%
& .‘ » - . .
B 96. U5 ESHER vilet 4%+t st2iell WAEME 2R A 10% Al OdUldl 53 8. 2 AU dA S2¢1 251
S14€l 49| ? ~ N
G bG
(A) 19% (B) 20% ‘)ﬂg/é \\ ©
7\ N\
(©21% (D) 22%
r 97. By sclling 45 lemons for Rs. 40, a man loses 20%. How much he should charge for 18 lemons to

sain 20% 2 £ . @
(A) Rs. 12 (B) Rs. 16 0\75 \i\w{ﬁ 6
355 \

(C) Rs. 18 (D) Rs. 24
25 W 45 dlog 31 40 HidA B v 20% s (A 8. 18 dlly dA Secuni dual A 24l dA

20% sl 2w ? . A Co
9 by o~ V& S
(A) 3L 12 Qﬁ% Lo W= "Tr; 20
(C) 3L 18 D) 3. 24 /
Find the total no. of coins ? % )
Wi 2 {AC i . %

(A) 560 Ay (B) 520 /' T
) % (D) 820 @ 3

(C) 720

25 Aelai 50 Wt 25 V2 247 10 V2wt Fsst 8 A d 51 9 2 4 AWNHRAHL Y A 5453 31 206 D ell
éﬂf%.&sl}ac-ué.ﬂ? {’é,{k N /?_7[3 .-t
(A) 560 A (B) 520 = s b

@ O e ee A TS
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99, Two numbers are respectively 20% and 50% more than a third number. The ratio of these
numbers are ?

(A)2:5 (B)3:5
(C)4:5 (D)S:4
99. Al 4612 52t MU 6 40130 20% 1A 50% a4t 6. i AA0H d2ilg el 24 eil ?
* ghed’ K bbb Bt

A)2:5 B)3:5

ct’b) - e 3
4:5 (D)5: 4 X
) PIEAR
 (1.5)° +(4.7) +(3.8)° - 3(1.5%4.7x3.8) _3 )

W Sy (47 + (3.8) —(4.7x3.8)— (L5x4.7)—(1.5%3.8) P

A) 6 .
(A) (B) 8 g Y &’
(C) 10 (D) 12
A (1.5)° +(4.7)° +(3.8)° ~3(1.5x4.7x3.8) _

. (1.5)* +(4.7)* +(3.8)* — (4.7%3.8)— (1.5%4.7)— (1.5% 3.8) yru
(A) 6 , (B) 8
(C) 10 (D) 12
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